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3t Bz MR HEREH x2FE

1 10 18 0033333 20 0.2
11- 20 20 0.033333 20 0
21— 30 21 0033333 20 0.05
31— 40 23 0.033333 20 0.45
41 - 50 20 0.033333 20 0
51— 60 21 0.033333 20 0.05 ,
61— 70 18 0033333 20 0.2 VR Tap—
71— 80 20 0.033333 20 0 (& 25 _EE‘%“,@’&)
81— 90 20 0.033333 20 0 TER{ER
91 — 100 20 0.033333 20 0
101 - 110 17 0033333 20 0.45
111 - 120 23 0.033333 20 0.45
121 - 130 21 0033333 20 0.05
131 — 140 19 0.033333 20 0.05
141 - 150 20 0.033333 20 0
151 — 160 19 0.033333 20 0.05
161 - 170 22 0033333 20 0.2
171 = 180 21 0.033333 20 0.05
181 - 190 22 0033333 20 0.2
191 — 200 19 0.033333 20 0.05
201 - 210 20 0.033333 20 0
211 - 220 19 0.033333 20 0.05
221 — 230 19 0033333 20 0.05
231 — 240 17 0.033333 20 0.45
241 — 250 21 0033333 20 0.05
251 — 260 19 0.033333 20 0.05
261 - 270 21 0033333 20 0.05
271 - 280 20 0.033333 20 0
281 — 290 21 0033333 20 0.05
291 — 300 19 0.033333 20 0.05
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